Name:

October 21, 2020

Sr: 21102020-1766

MATHS WORKSHEET [ Shrs @

GENERATOR

GCSES

1) (7x 1% +(6x 82 2) 21/ 10F ©p0 3) Find the percentage change from 300
to 132
Answer: Answer: Answer:
4) 5) 616 x 15, 6) Share 27 in the ratio 9:18
A=20 B
Find the Angle at side B.
Answer: Answer: Answer:
7)  5501x1294 8) 16/,5x 34 9) 16/, 3% 34
Answer: Answer: Answer:
10) Factorise g2 + 7q + 10 11) 8288.3+1177.4 12) 20479.8 + 642
Answer: Answer: Answer:
13) Convert the following fraction into a 14) 9976 x 2933 15) Factorises? + 55+ 6
mixed number: 43/,
Answer: Answer: Answer:
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16) 17) 224X 94 18) o9
Find the next three numbersin
the sequence
1223344 , ,
Answer: Answer: Answer:
19) Find the mean of the following set of data: 20) 5680 + (-80) 21) 96.1x 83.1
0.5,0.8,0.8, 13, 66, 0.5, 48
Answer: Answer: Answer:
22) 23) Find the median of the following set of data: 24) 8556 + 93
40J Find Volume of Cone 25, 29, 32, 19, 13, 33, 23, 5, 13, 31,
32,17, 33, 4, 15, 26, 26, 2, 29, 39
)
36
Answer: Answer: Answer:

25) 8556+ 93

Answer:

26) Anamount wasincreased by 8% to
$303.00. Find the original amount.

Answer:

27)  Anamount was increased by 5% to
$93.00. Find the original amount.

Answer:

28) 1376+ 16

Answer:

29) (-70) X (-26)

Answer:

300  9262x 8821

Answer:
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Answer:

Answer:

31) 7541+ 5507 32) 307 x 141, 33) (%8
Answer: Answer: Answer:
34) Find the percentage change from 125 35) 75x 10 36) Find perimeter of
t0 230 b rectangle having
sidesa=9350 m
a andb=28148m
Answer: Answer: Answer:
37) 38) Share 58 in the ratio 50:8 39) Solve6f2+ 16f-14=0
40z~ Round your solutionsto 1 decimal
place.
Volume of Cone
39
Answer: Answer: Answer:
40) Find the percentage change from 112 41) Find area of square 42) 'What isthe probability of rolling a
to 168 having each side () even prime number.when rolling a
s equals 7677 ft dice
s
Answer: Answer: Answer:
43) (-3157) = (-77) 44)  Increase 150 by 1/25 45) 23% of 203

Answer:
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46) Convert the following improper
fraction 6%/, + 272/ into amixed
number

Answer:

47)  15065.6+ 352

Answer:

48)
Find the next three numbersin
the sequence
9,10,30,31,93,94,282 , ,

Answer:

49) A number was shared in theratio

50) Convert the following mixed number

51) Solve by factorising

Answer:

Measure angle boa

Answer:

60:36. The smaller share was 36. 612/, , into an improper fraction. g2 +9q+20=0
What was the larger amount?
Answer: Answer: Answer:
52) 33,0+, 53) 'What isthe probability of rolling a 54) Decrease42 by 45,
number less than 1.when rolling a
dice
Answer: Answer: Answer:
55)  Decrease 42 by 4/, 56) b 57) (-972) + 81
a 0 c

Answer:

58) Increase 20 by Y/,

Answer:

59)
Find VVolume of
Square Pyramid

Answer:

60)
Find the next three numbersin

the sequence
12,9,18,15,30,27,54__,__,__

Answer:
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61) 30+ Tlg

Answer:

62) 405-10,

Answer:

63) Anamount was increased by 9% to
$243.06. Find the original amount.

Answer:

64) Share 59 in the ratio 54:5

65) Convert the following improper
fraction 32%/g + 13/, into a mixed

66) 3810/,9x 722,

Answer:

Answer:

number
Answer: Answer: Answer:
67) Find area of 68) Find area of 69) (-300) + 12
b rectangle having b rectangle having
sidesa=9579in sidesa=9579in
a andb=7513in a andb=7513in
Answer: Answer: Answer:
70) 35 x (-86) 71) 72) Solvel13f2+12f-9=0
40_£~ Round your solutions to 1 decimal
place.
Volume of Cone
35
Answer: Answer: Answer:
73) 25 9,-11 g 74)  Anamount was decreased by 10%to || 75) b
$483.03. Find the origina amount.
a 0 c

Measure angle boa

Answer:
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Measure angle boa

77) 1075 of 86

78)  Write 6000 in standard form.

Answer: Answer Answer:

79) 1394 +~ 82 80) b 81) Find area of square
having each side (s)
s equals 7485 in
a o} c
Measure angle boa s

Answer: Answer: Answer:

82) Find perimeter of 83) 2619, , x 1411, 84)  (-2250) + 50
triangle
b ¢ a=1191m,b=
7575 m,
a € =9499m

Answer: Answer: Answer:

85) Solve by factorising 86) Convert thefollowing fraction into a 87)
X2 +16x-17=0 mixed number: 33/, 4OJ Find Volume of Cone
—
34

Answer: Answer: Answer:
88) 22,154 89)  4169.9+ 19325 90) Factorisef? + 8f + 12

Answer: Answer: Answer:
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91) Sy ,0f228

92)  7917.6- 389.8

93) 81.8x 93.6

Answer: Answer: Answer:
94) 756 + (-36) 95) Solve16q2 +20g-12=0 96) g x 9,
Round your solutionsto 1 decimal
place.
Answer: Answer: Answer:
i / % o % \
‘Name the type of angle. Name the type of angle.
Answer: Answer: Answer:

100) Find the percentage change from
170to 153

Answer:

Total: /100
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1) 391

8) 1337/

15) (s+2)(s+3)

22) 13571.680263508
29)

36) 34996m

43) 41

50) 48/,

57) -12

64)1:58

71) 51312.680008633
78) 6x 103
85)x=1or-17

92) 7527.8

99) Acute

2) 171y,

9) 1337/

16) 556,

23) 315

30) 81700102

37) 63711.499014801
44) 156
51)q=-40r-5
58) 22

65) 341/,
72)f=050r-14
79)17

86) 1%/4;

93) 7656.48

100) -10%
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MATHS WORKSHEET

Answers:
3) -56% 4) 160
10) (g +2)(q+5) 11) 9465.7
17) 2105.6 18) 48/,
24) 92 25) 92
31) 13048 32) 4% 4
38)1:57 39)f=0.70r-34
45) 46.69 46) 331,
52) 4%, 53) 9/,
59) 9900 60) 51,102,99,
66) 30525/, 55 67) 71967027in
73) 1453 74) $434.73
80) 133 81) 56025225in
87) 12105.603691833 88) 229/,
94) -21 95)q=04o0r-17

GEMERA

5 1%,

12) 31.9
19) 1851
26) $280.56
33) 32
40) 50%
47)42.8
54) 34

61) 223/,
68) 71967027in
75) 129

82) 18265m
89) 6102.4
96) 3%,

Sr: 21102020-1766

SATS

=

6)1:26
13) 118/,
20)-71

27) $88.57

34) 84%

41) 58936329ft
48) 283,849,850,
55) 34

62) 13Y/gg

69) -25

76) 129

83) 387%, ,

90) (f + 2)(f + 6)
97) Obtuse

http://www.geekschool.co.uk

11-PLUS
GCSES

A0
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7) 7118294
14) 29259608
21) 7985.91
28) 86

35) 750

42) Y

49) 60

56) 152

63) $222.99
70)

77) 20

84) -45

91) 10

98) /59
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